EI7RIKEREERRELAR RARESKIAER

FfER B SH6E6H29H(L)
B 15 A BEBMESEESNE B
[BEDER)
I 1| K & | fEF—L |5OUFE4TEH 11TE%k| 24TEIS| 3iTE%| 4TI | &F
EIR| 17 1 5 2 0 14
" S s | B2R | 17 1 5 2 0 14
152 [EM BFBX|Da(4T)—> 3R 18 1 A 3 0 =
85| — 3 14 7 0 43
EIR| 19 1 3 4 0 16
" FI2R | 20 1 3 3 1 17
3 |
260 | IRAKR mIIGG 23R | 19 1 3 A 0 -
85| — 3 9 11 1 49
EIR| 17 0 7 1 0 17
. . EOR| 19 0 5 3 0 19
3 § =—| /\yE— =
stz |k INE=GG e 16 1 6 1 0 13
85| — 1 18 5 0 49
IR | 19 1 4 2 1 16
- . » | 2R | 19 1 3 4 0 16
Al | BYE A | EEREH 23R | 18 0 6 ) 0 18
85 | — 2 13 8 1 50
IR | 20 0 4 4 0 20
®OR| 19 1 4 2 1 16
o 7 A R o | B
51 |®m@ ax| BFGGE 3R | 17 1 5 ) 0 ”
85| — 2 13 8 1 50
EIR | 20 0 4 4 0 20
o I B _| 2R | 20 1 2 5 0 17
v |ERAK ZR|Z4HEN .
61z BI=2RB777 gm0 1 4 2 1 16
85t | — 2 10 11 1 53
EIR| 17 0 7 1 0 17
¥R | 20 0 5 2 1 20
i fg ! G
5L (mHF Th| HIIGG 53R 09 1 2 A 0 6
85t | — 1 15 7 1 53
IR | 18 1 4 3 0 15
S . F2R | 20 0 4 4 0 20
\ =] =[] N
8fi |18 IEBI| ERRTAIL 23R | 18 0 6 ) o 8
85| — 1 14 9 0 53
F1R 18 0 6 2 0 18
_ EOR | 17 1 5 2 0 14
off |#M M| IRAGG |
br | B R E3R | 21 0 3 5 0 21
85t | — 1 14 9 0 53
FTIR | 24 0 2 4 2 24
" . _ FIR | 19 1 3 4 0 16
1013 EBA| KEETGGB TS|
Ofi |#h%F B it =TT 1 4 3 0 15
85| — 2 9 11 2 55

KIELSBABEZRLELEN

EH ZEERKR) A —IL2TEER BHTEITTVET !




EI7RIKEREERRELAR RARESKIAER

FER R : SH6E6H29H(L)
B 15 A L BEEBHSEHAE Bk
[ZEDER)
B 51| K & | FRiEF—L4 |59UF|EITH 44T | &E
IR | 20 1 1 2 17
s | = » | 2R | 18 1 3 0 15
M5 |== =8| FEEREREE 23R | 19 1 4 0 16
=5 — 3 8 2 48
EIR| 19 1 4 0 16
. . EOR| 19 0 3 0 19
i B R i
23 |®KBE BRF| HEEBAS 3R | 19 1 4 0 16
=5 — 2 11 0 51
EIR| 21 1 2 2 18
EOR| 19 1 4 0 16
i 7 = | & | =
L | B F| BIFGGH Z3R 20 0 5 2 ] 20
=5 — 2 11 8 3 54
EIR| 21 0 3 5 0 21
. N ¥R | 20 0 4 4 0 20
YA PINY N (2 y—s | F
AL /MY RE[DCIA«AT) -2 53R s 1 5 ) 0 i
=5 — 1 12 11 0 55
IR | 19 0 5 3 0 19
. ®IR | 23 0 3 3 2 23
Y |ET &R ET—Es | 2
85 | — 1 12 8 3 58
EIR| 22 0 4 2 2 22
o | = EIR | 22 0 4 3 1 22
6 |MA 73| SHIGG 23R | 18 1 A 3 o he
=5 — 1 12 8 3 59
FTIR | 22 0 4 2 2 22
U e F2R | 21 1 2 4 1 18
\ = NRIGG L
7451 ¥ 1EE|RFIGGUEDY 53R 09 0 6 1 1 09
=5 — 1 12 7 4 59
F1R 19 1 3 4 0 16
. HFIR | 23 0 2 5 1 23
SL|GAE INR—HIE [
I [:# E=F| M —HIE 3R 20 0 4 4 0 20
85| — 1 9 13 1 59
IR | 20 0 4 4 0 20
P e | B2R | 19 1 3 4 0 16
\ 1 [=] O par
v s EE| DIEESST #3r | 23 0 ) s 1 23
=5 — 1 9 13 1 59
F1R 23 0 2 5 1 23
®IR| 18 0 6 2 0 18
101 o e | =
br @ BX = =3 | 18 | 0 6 2 0 18
=5 — 0 14 9 1 59




FI37MIFEELEREEUT BERAKEEXRS

ﬂWGEGHZQEUﬂ
ZIREHREET AR [BkE5l

[BiEDER)

AEEE

FEAR
PR S AT

[ v

K 4

EF—L

141

/A*T /5. 9&

Taq) -2

24z

BE B

GG

3Miz

ik E—

/\vwE —GG

ah

alE A

ERER

513

K HRER

BFGGE

61iz

ERRK =k

ZRERIST

741

mF

7

HIIGG

81i

B+

IERI

ERRTAIL

ofsz

i o

i

RAGG

1042

I

1EBA

ABEATGGEIF S

[ZiEDER]

g iz

K #

BT — L

141

==

el

ERER

24z

e

BF

AR

3z

B fiE]

BF

AFGGR

afit

INR

®E

=R AR

5

BT

RF¥

BI-K

613z

A

7T

n

=HIGG

741

=47

[LES

WBIGGUEDHY

81z

A

XF

Mr—H=

ofiz

g

DES

2EEHST

10432

Ei;

[EES

HIIGG




